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Al 86,618
s & Nd 123,380 116,145 7,235
= 49,352
[ 37,014
Al 37,014
307 21201 ™ 123,380 116,145 7,235
= 49,352
[ 37,014
Al 37,014
10 AlRISXIE X 123,380 116,145 7,235
Oass N 123,380,000 123,380
= 49,352
= 37,014
Al 37,014
SSdEotg ots A& 2,280 2,280 0
307 21201 2,280 2,280 0
10 ALRISKIE X 2,280 2,280 0
O3sdels Ol 2stdgy|
10,0002 198 =128 2,280
LA0ls HEEXS 169,183 120,960 48,223
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SN S0
M JpE0| 4D 22 SXMHIA MBS
CHol: JIESIZEY OISR S MHIA X (SHol: &2

SN B ERI(B) - MSAY - BeS 0l &t

=1p

i

2m
=2
kel
0y
0y

118,427
25,378
25,378

= H W

301 Let2a=E 169, 183 120,960 48,223
118,427
25,378
25,378

= HnH

01 A2 & H=0ll= 169, 183 120,960 48,223
Oogaots =4 169, 183,000 169, 183
118,427

25,378
25,378

= N H

FijorsLyLe=2ES 42,417 42,183 234
29,691
6,363
6,363

= HnH

301 Let2a=E 42,417 42,183 234
29,691
6,363
6,363

= H W

| = = 42,417 42,183 234
OZMHOISYL Ad=E2xS 42,417,000 42,417
29,691

6,363
6,363

= HHW

matols 158 X 17,233 17,233 0
5,170
12,063

=

307 2I2t01d 17,233 17,233 0
S 5,170
Al 12,063

10 AFRISAIE X 17,233 17,233 0
Oowstthors 1ss X& 17,233,000& 17,233

5,170
12,063

in

=

e IERAE0IS del. EA 2K 7,200 7,200 0
5,040
1,080
1,080

= H W

301 Let2a=s 7,200 7,200 0
5,040
1,080
1,080

= H W

2EA6= 7,200 7,200 0
oY ItEE0ts &el. 8A Xz K&

7,200,000 7,200
5,040

W
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2A:

JPE G

3 J1E0 &) 22 SAANEIL WS
ol JHESIFE| OISR BMEIA XIS (S5 &2
- PSIE
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
T 1,080
Al 1,080
geerg A3 16,268 0 16,268
= 11,388
S 2,440
Al 2,440
301 LEtE A= 16,268 0 16,268
= 11,388
[ 2,440
Al 2,440
01 A2 X +5l= 16,268 0 16,268
Oggr=g A2 16,268,000& 16,268
= 11,388
= 2,440
Al 2,440
XSAte] OtSES 327,780 378,370 A50,590
= 31,620
= 8,000
= 77,575
Al 210,585
020l & ARIE 25,000 25,000 0
307 212told 25,000 25,000 0
10 AFRISAIE X 25,000 25,000 0
O02lole A 25,000,000 25,000
Ols=X E2X& 3,010 1,910 1,100
201 e 2,590 1,610 980
01 AR 2t2lbl 2,590 1,610 980
OOIS 2l 9IRs &A4Y 2,590
—0Is=DIs 234223
70,0002 x5F *13] 350
—0ts=4 A2 70,000 x0H 23] 1,260
—KAS0otSHE A2 70,0002 +7 & #23] 980
301 LetE N3 420 300 120
10 YAIMBIE S = 420 300 120
O0ts2& W= Al 7,0003*60E *13] 420
AotsEsd=z212 29 206,000 206,000 0
= 61,800
Al 144,200
307 21201 ™ 206,000 206,000 0
= 61,800
Al 144,200
10 ARISXEX 206,000 206,000 0
OXdotsEsdzl 2 29 206,000,000 206,000
= 61,800
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A JIEEHd L
I J1E0] &) E2 SXAMHA B
Chel: XIGALe] OtsES (et &3
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
| A 144,200
OtseldNSAIH =& 3,600 3,600 0
307 212+01 & 3,600 3,600 0
10 Al2l=XI2 X 3,600 3,600 0
OO0t=s A WF ALY 3,600,000& 3,600
Ots2EXIJAAL XA 45,170 26,860 18,310
= 31,620
< 6,775
Al 6,775
301 LBtEAz 45,170 26,860 18,310
= 31,620
& 6,775
Al 6,775
01 Alel2EH 5= 45,170 26,860 18,310
OOtsZLEX3 AN K& 45,170,000 45,170
= 31,620
= 6,775
Al 6,775
ElA0ts NE B33 45,000 115,000 A70,000
= 8,000
& 9,000
Al 28,000
301 LBtEAz 45,000 115,000 270,000
&2 8,000
= 9,000
Al 28,000
01 AlRIEE X 0ll= 45,000 115,000 A70,000
ElA0ts NE 33 45,000,000& 45,000
=2 8,000
L= 9,000
Al 28,000
ESAHIA D125t 296,746 291,164 5,682
= 3,500
& 1,750
Al 291,49
EEMUIA X3 289,746 285,164 4,582
201 223 11,078 8,676 2,402
01 AtR2elt| 11,078 8,676 2,402
OESAIY UM HMIZ 9,000 650 5,850
OESHUALY 70,0002 * 1224 +53] 4,200
O2ZYLSAIE Mo Zolaay
70,0002 1H+8IH 560
O=TYRSAL ASHAN BB44E
52,0003 *90H 2 468
307 gI2told 278,668 276,488 2,180




2A:

=Lk

IIEE LD
JIE0| & £2 SXIAHIA HS

CHol: ESAHIA DB s

= — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
10 MRISXEX 278,668 276,488 2,180
OESAEESIAM A2t 22+H
50,0003 #3202« 122 192,000
OESAIE SZMA A
1,000,000& * 111 A+ 12] 11,000
OUZO2I01Y HS2YH X2
150,000 x 14 A+ 123 1,800
O=X(ot2)z2 2el24|
150,000 = 1 A+ 123 1,800
OO S ESAIE THEIIAL 2124
1,879,000 x1H«12& 22,548
OAZIGIBES BXDA ol
700,000 x5 * 122 42,000
OESAE TJ % HABY 442
60,0003 420 A x12] 2,520
OANEH /Ads A& 5,000,000&*12] 5,000
ESAESANEFNS 7,000 6,000 1,000
= 3,500
= 1,750
Al 1,750
301 Let2a=a 7,000 0 7,000
2 3,500
[ 1,750
Al 1,750
12 JIe2d=s 7,000 0 7,000
OESAE SAL Ex1S 7,000,000& 7,000
= 3,500
== 1,750
Al 1,750
EFAIE JISsEZAY 160,600 63,000 97,600
= 58,400
[ 29,200
Al 73,000
=38 BESME SXNE=s 43,800 28,000 15,800
307 2iz2told 43,800 28,000 15,800
10 ALRISXIE X 43,800 28,000 15,800
O=sE8ESAE SN2+ N& 43,800,000 43,800
2FAE 3 26,800 35,000 /8,200
= 13,400
[ 6,700
Al 6,700
402 212t X201 26,800 35,000 28,200
= 13,400
[ 6,700
Al 6,700
01 eIt A=Ex 26,800 35,000 28,200
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2A:

X‘I iH:

JPE G

=0 &0 22 SAABIA WS

H°el 2FAE JIS2ESAE (S d &)
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2

OZOMHOIESFAIE N, E==H| 20,000,000 20,000
= 10,000
[ 5,000
Al 5,000
O&liot2=s e HHil 2,800,000& 2,800
2 1,400
T 700
Al 700
ESALeEHe ZHibl 4,000,000 4,000
= 2,000
= 1,000
Al 1,000

2EFANE BE 90,000 0 90,000
= 45,000
T 22,500
Al 22,500

402 212t X=201H 90,000 0 90,000
2 45,000
= 22,500
Al 22,500

02 QUZHHSAIEH 90,000 0 90,000
Oger=20el0ld 2224l 50,000,000 50,000
= 25,000
[ 12,500
Al 12,500
OHA=S001E JIXHH +& 40,000,000 40,000
2 20,000
T 10,000
Al 10,000

ESAE X2 8,625,725 8,113,211 412,514
= 3,563,670
S 2,122,99%
Al 2,839,060

SSAE SAEL 1] 7,124,940 6,898,884 226,056
=2 3,562,470
[ 1,781,235
Al 1,781,235

307 2iz2told 7,124,940 6,898,884 226,056
=2 3,562,470
T 1,781,235
Al 1,781,235

10 AFRISAE X 7,124,940 6,898,884 226,056
OSBALR e12dl K& 7,124,940,0002 7,124,940
= 3,562,470
= 1,781,235
Al 1,781,235

2RI24HH 29 322,000 311,244 10,756
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FA IJEAGL
3 J1E0 &) 22 SAANEIL WS
&2l E]AIE K& CERED
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
307 21201 ™ 322,000 311,244 10,756
05 QIZtRE= 322,000 311,244 10,756
ORdA ESZHEHEH MHEE X
63,000,000 *1JH 2 63,000
OF&AN E=524H =34
259,000,000& *17H 2 259,000
Ag2aHl X2 2,400 2,400 0
= 1,200
[ 600
Al 600
307 2iz2told 2,400 2,400 0
= 1,200
T 600
Al 600
10 ALRISXIE X 2,400 2,400 0
OOt ESAE IS
2,400,000 2,400
= 1,200
[ 600
Al 600
EXNZANESANH LI 673,140 575,040 98,100
[ 201,942
Al 471,198
301 LEtR A3 673,140 575,040 98,100
= 201,942
Al 471,198
01 AlRI2& X +5l= 673,140 575,040 98,100
OFFANELFAE SAHL X <LIH&H
673,140,000 673,140
[ 201,942
Al 471,198
OIS OtEE WAL S22 f2E 69,183 69,183 0
S 20,755
Al 48,428
301 LeEtE N3 69,183 69,183 0
= 20,755
Al 48,428
01 A2 X +5l= 69,183 69,183 0
OFOHOF HOHH WA S2224Y
69,183,000 69,183
S 20,755
Al 48,428
ANZAZSEEFAIE2E A 39,577 28,800 10,777
[ 11,873
Al 27,704
307 2iz2told 39,577 28,800 10,777
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FA IJEAGL
3 J1E0 &) 22 SAANEIL WS
el 2FsAE X3 (S d 3
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
T 11,873
Al 27,704
10 AlSISXI2 X 39,577 28,800 10,777
OAlZAEY EFAE 2HXE 39,577,000 39,577
= 11,873
Al 27,704
=022 N EFuAL 2128 X3 11,760 11,400 360
= 3,528
Al 8,232
307 212told 11,760 11,400 360
T 3,528
Al 8,232
10 ALSISXIE X 11,760 11,400 360
O2A=0Z 2 A EF WAL 21248 K&
11,760,000 11,760
= 3,528
Al 8,232
IHEESWANE 29 191,142 216,260 A25,118
= 76,457
Al 114,685
301 &eteds 138,060 0 138,060
= 55,224
Al 82,836
01 ArRI2&XH=sdl= 138,060 0 138,060
OJIEESWANE X3 138,060,000 138,060
= 55,224
Al 82,836
307 21201 ™ 53,082 216,260 A163,178
= 21,233
Al 31,849
10 ALRISXIExE 53,082 0 53,082
OJIEESWANE 22 53,082,000& 53,082
S 21,233
Al 31,849
S A X2 2,900 0 2,900
301 LEtE N3 2,900 0 2,900
09 SA2RRILBH=S 2,900 0 2,900
OzUZLe a3 2,900
-S4 5,000 x2F =202 * 122 2,400
—3atEH| 500,000& «1& 500
2EFAE a3 0tz A& 88,683 0 88,683
[ 26,605
Al 62,078
402 212t X+=201H 88,683 0 88,683
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D IJEEWA
: JIE0| A

|
D ESAE N

£2 SANAHIA M3

S C(EH) - M

A -

0x
Jo

e

Ofl & 24

pym
JgH

=1p

26,605
62,078

02 2IZHTHE AR
SHA0t2 M XI&b8l 88,683,000

= i

88,683

88,683

26,605
62,078

88,683

= HnH

7,153,991
3,512,304
1,779,487
1,862,200

5,323,594

1,830,397

= i

77,783
23,335
54,448

65,774

12,009

77,783

23,335
54,448

65,774

12,009

77,783,000

= i

77,783

77,783
23,335
54,448

65,774

12,009

= H W

7,024,608
3,512,304
1,756,152
1,756,152

3,051,780

3,972,828

= H W

7,024,608
3,512,304
1,756,152
1,756,152

3,051,780

3,972,828

7,024,608,000&

= HH

7,024,608
7,024,608

3,512,304
1,756,152
1,756,152

3,051,780

3,972,828

51,600

51,600

51,600

51,600

100,000 x43EH«12&

51,600

51,600

51,600

787,472

2,000
785,472

1,501,685

AT14,213

787,472

2,000
785,472

1,501,685

AT14,213

780,805

1,501,685

AT20,880

- 132 -




2A: JIEHL
FH: DEY H0OEHEgD

Chel: nsZHl XA (et &3
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
308 AXISHMSO0IH 780,805 1,501,685 AT720,880
06 WEINZUHEIEEZ 780,805 1,501,685 AT720,880
OXSEBLIRoIMSEIW J|E 2Z W X3 (A0I=
S 30Hw) 162,855,000& 162,855
OZSEBDA JIE 291 NE(PHEY=
S 2)H) 17,700,000& 17,700
OZSEZDA(2S]) T2y A&D L JIE
SY(RAx S 16JH) 440,000, 000& 440,000
OAMESXI& W+ & 7T1H&)
35,500,000& 35,500
OAMESXIA SLPt SN (A-ESIIE 714
) 71,000,000& 71,000
OZERXA SLH 22dI( S 434
) 53,750,000 53,750
snuws A 6,667 0 6,667
L= 2,000
Al 4,667
308 AHXIHMSOIA 6,667 0 6,667
< 2,000
Al 4,667
06 WEI|Z0US2ES 6,667 0 6,667
OSotzz A MHIA 6,667,000 6,667
L= 2,000
Al 4,667
Y 2AZH(IIENAE D) 44,490 58,890 214,400
ol AY| 3,000 4,200 21,200
S244| 3,000 4,200 A 1,200
203 HR=&H| 3,000 4,200 A 1,200
04 2EN2IHRFEYI 3,000 4,200 A1,200
ORNM2IHRFAHI 250,000& *12& 3,000
JIE&l 41,490 54,690 213,200
Ealgeagesall 19,890 25,890 26,000
201 2Bt 19,890 25,890 26,000
01 AtSZeltl 19,890 25,890 26,000
ORM2EI 234 18,000
—Ypt=Z| 50,0003 15+ 12& 9,000
—= 2| 50,000& =15 *12& 9,000
OLSA HE && FHl 4,500 +1000H 450
O=SA| xtz 120,000 x 128 1,440
Gl 21,600 28,800 A7,200
202 Gid| 21,600 28,800 AT7,200
01 2B 21,600 28,800 AT7,200
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SN IIE0E
M #HH2AAH(OISHED)
ol J|=AY| (e &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
| | | SEEESSPIEICT] 120,0002 x 15 122 21,600
WRESOIEEAD) 100,000 500,000 400,000
eV INE= 100,000 500,000 A400,000
HagEIZ M52 100,000 500,000 A400,000
02 J2NE2 100,000 500,000 A400,000
01 JI2d=2 100,000 500,000 400,000
ONELHEIIZ2 HE2 100,000,000 100,000
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